HIE s R —Ba 3%

THE4 A RIRA AR EER KIS (D) THEH
TS ET #ETRR H JEHT
HEH 20124207 H01H (H) gi’e FEVE(E 10.0 m/s
WwmEH B Y 7.0 m/s
HIE FRE S JEGER I K Bt
No % A7)
BRAGIEZ | #& THRZI (WER| m/s | JEGE | mEA | RER | OEGE | mA | BRREZ
1 0:00| 1 :00][ 60 2.9 49| 00:15 7.7\ BEEEVE | 00:14 | PARETE
2 1 :00| 2 : 00|60 2.9 5.2| P | 01:11 6.0 FFEFPE | 01:05 | FARSVE
3 2 :00| 3 : 00|60 2.3 3.9| FEFEE | 01:52 4.7\ FERETE | 02:41 | FAREVE
4 3:00| 4 : 00|60 2.5 3.7 P | 03:12 4.0 mEVE | 02:50 | FAVE
5 4 : 00| 5 :00] 60 2.3 3.3| P | 04:17 3.7| FEEEVE | 04:08 | PFEVE
6 5:00| 6 : 00/ 60 1.4 3.3 mMfE | 05:59 3.7\ MIEVE | 05:59 | FEVPE
7 6 : 00| 7 :00]| 60 2.2 3.3| mEPE | 05:59 4.0 ®vE | 06:09 | PFEFE
8 7 :00]| 8 : 00|60 1.9 3.3| FAEEVE | 07:03 4.0 mEVE | 07:03 | FAVE
9 8 : 00| 9 : 00] 60 2.3 4.0| FEFATE | 08:18 5.0 BTG | 08:17 £3]
10 9 : 0010 : 00| 60 3.3 6.8 mFE | 09:56 7.3 FAPE | 09:55 | FEPE
11 |10 : 00| 11 : 00 | 60 5.3 7.8 FEFEVE | 10:30 9.0 ®§VvE | 10:29 | PEFE
12 [ 11 : 00 [ 12 : 00 | 60 4.3 6.7| FAFEVE | 11:42 8.7 FAFEVE | 11:41 | FARSVE
13 112 : 00| 13 : 00| 60 3.8 T PEFETE | 12:42 9.0 FEFITE | 12:41 £3]
14 [ 13 : 00 | 14 : 00 | 60 3.9 6.7| FIFEPE | 12:51 8.7 FAFEVE | 12:51 | FARSVE
15 | 14 : 00| 15 : 00 | 60 4.3 6.5| 14:40 8.3| FAmIVE | 14:51 | FAREVE
16 | 15 : 00 [ 16 : 00 | 60 2.9 6.3 rd 14:51 8.3| FAFAVE | 14:51 Eg)
17 | 16 : 00 | 17 : 00 | 60 2.3 4.6| 16:59 6.3| FERE SR | 16:28 | FAREVE
18 | 17 : 00 | 18 : 00 | 60 2.6 4.7\ FEFEVE | 17:29 6.3 16:58 E]
19 | 18 : 00| 19 : 00 | 60 1.7 3.0 18:10 3.7| FEEEVE | 18:10 | PFEVE
20 [ 19 : 00 [ 20 : 00 | 60 2.9 4.6 FMEVE | 19:17 5.0 P | 19:17 | rFEPE
21 [ 20 : 00|21 : 00| 60 1.4 3. # 20:06 4.3| FAPEAE | 19:59 £3]
22 21 : 00|22 : 00| 60 0.3 1.8| PEFA G | 20:57 2.3 FIFEVE | 20:57 | PHESVE
23 [ 22 : 00|23 : 00| 60 0.5 1.7 e | 22:52 1.7( 4L | 22:51 | AbvE
24 123 : 00| 0 : 00| 60 0.4 17| Aedbs | 22:52 17| A3 | 22:52 | dkvE




